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) 6. 37 4. 00 4. 00 4. 00 25. 48
L10 9. 49 4. 00 4. 00 4. 00 37.96
L11 4. 14 4. 00 4. 00 4. 00 16. 56
L12 4. 65 4. 00 4. 00 4. 00 18. 60
L13 8.79 4. 00 4. 00 4. 00 35.16
L4 6. 55 4. 00 4. 00 4. 00 26. 20
L15 2. 29 4. 00 4. 00 4. 00 9.16
L16 10. 85 4. 00 3. 00 3.50 37.98
NEF 410.48 ©)
CADw -]
HLEA 48.00
HLEB 21. 30
HLEC 21.40
TNEF 90. 70 ©
&Et 501. 18 ™ D+




METEIEAEE (EEHEA) (ME70975#) (ZEielhER)

& & (m)
| B= X [ 25 & (m) i s & sl 1 (m) E1E (m2) HE

R1 19. 48 3. 00 3. 00 3.00 58. 44
R 0. 51 3. 00 3. 00 3.00 i.53
R3 5.55 3. 00 3. 00 3.00 16. 65
R4 6. 06 3. 00 3. 00 3.00 18.18
R5 8.39 3. 00 3. 00 3.00 95,17
R6 14.79 3. 00 3. 00 3.00 44,37

Bk 164. 34




SMETHIRAEE (SEHEA) (ME710975#R) (ZEielhER)

g & (m)
| &5 | XMEHEREm 2 g {8l Rl | Y m 15 (m2) HE
I1 14,79 3,00 3,00 3,00 44737

N 44737 ©
CADg -

Fila 450

D 13740

N 17.90 ©)

e 62.97 m® (D+O)




HETHEAEE (FEEH) (HHEI0975H) (EFT v F—/\X)

g & (m)
X ] 26 8t (m) i s #2 U fal T4 (m) EiE (m2) HE
20. 00 3. 50 3.50 3. 50 70. 00
20. 00 3. 50 3.50 3. 50 70. 00
20. 00 3. 50 3.50 3. 50 70. 00
20. 00 3. 50 3.50 3. 50 70. 00
20. 00 3. 50 3.50 3. 50 70. 00
20. 00 3. 50 3.50 3. 50 70. 00
20. 00 3. 50 3.50 3. 50 70. 00
10. 33 3. 50 3.50 3. 50 36. 16

&t 526. 16 |n’




XE#HRIHERK

= X5 W=
B 7553 % | HHiET7097 5
E Al R B {1 AR R B
X iR T
oL R HEFERR 24 FAW=15cm m 49, 8 56. 0 105. O [PrE#E=ELY
SMAIR HEAFER A FAW=15cm m 157. 8 560. 9 718. D )
B AR _
EREZES T WRTAFIEN
2 kR W=45cm m 4,92 5.2 9. @ PrE#HELY
HEE  wa )
=FEh _ m 18.6 18. @ |[xmi#gErEELY
ERZES T IR D)
ENEIENS W=15cmffi i m 17.8 17. @) I
ERZES T IR D)
ENEIESEil W=15cmffi i m 13.3 13. @) I
ERZES T
R B RAW=45cm m 20. 4 20. ® I
ERZEST
XE#RY 7 Z Rk AW=45cm m 6.3 6. ® I
HEEF
D21 > FAX R [15em 824.
Q¥ 2 X [ KHI - 5o - 37 15cmift A 49,
O N Y75 45cmifi 36.




NO. 1

XE#RTEESE (MET5535#K)

4 7N Fii a1l B4 % &
IS T AR TS
PNEI(ENS) 2.0 5T X 8.91 (W=15cmifiaE) m 17. 82
ENEICEED) 2.0  fEPT X 6.66 (W=15cmiikiE) m 13. 32

RS i

W=45cm A= 9. 14 m2

i 9.14 m2

L= 9.14 X 0.45 / 1.45 X 1 / (.45 m 6. 3




No. 2

RE#RTHESE (HET0975#8)

%

PR

i | O =
I T
1EF 1.0 S X 18.64 (W=15cmftE ) 18. 64
]
W=45cm A= 18.33 m2
H 18. 33 m2
L= 18.33 X 0.45 / 0.9 X 1 / 0.45 m 20. 4




REHRILERFS (TET5535H)
1/2
SMEER (BBRER) bR (BBER
pe Bl = | B OB = E K ®H & o= | ¥ A = E kK &
76.70 pau i 35. 00
81. 10 F5 181 14. 80
157. 80|m il 49. 80|m




b

A

=
nL

li\:

A

=
n.

XEHRE TS

fi&

REMRTIERREZ (TETS535H#R)

L

FILER

2/2

£ kK

&

4.18

4. 18[m




REHRILERFAS (TET0975HR)
1/2
SMANER (B BEHR) FIbER (BBER
;e B R | B OE R E K i & e B R | B A R E kK 5 &
56. 00| HEBHIEBEAT I 56. 00
56.40|  YE[HIE A
56.30]  HEBSIE AT
26. 40|  YEPHIE A
39. 10|  ¥EBLIE KA
180. 60| 7~ > A — X 254l
146. 10| 7 > X — S 2 Fefl]
560. 90|m il 56. 00|m




KERTIERFE (HiET0975H)
2/2
{14 LR
oA M| OB R T R i B oR | #® AR £ K ff
2.70 18.33
2.50
5. 20[m 18. 33|m




HEMER TSR

3l g B = i
B e T
HA 7 L A H=1.10m  +H#EEGAH m 56. 2
H—RL— Gr-C-4E _R=30m m 8.2
Gr-C—4E _R>30m m 101.3




TEmE TIERAE
[ &M (B53% [ 1L H) [hs&#M (Gr-C-4E)
moA = w oA = E K " =& m oAl = #® A & E K T &
56. 20| T 7553245 (L) 16. 10| THIBE7553 2% (L)
61. 00| TiE7553 548 (L)
32. 40| HHIET097 5% (L)
2} 109. 50|m
FEON. RE30mDIEE
CADEJ & ¥ 8. 20| 37097 B (L)
/NEF (R=30m) 8. 20|m
/NEF (R>30m) 101. 30|m
56. 20|m




BEMBEIHRSEMR

NO.
#E Al R B = =
HEEYBUE L T
BRI (FE) 7 A7 7L Nt t=bem m 79.5 |HE
BRI (JAE) T AT 7 )V M t=3cm m 3.5 [
ERAERR AR (HE) T AT 7 )V NEEE t=5cm m’ 1637.9 |5505 84 - 7553 8- - 7097 54
EREERR AR (E) T AT 7))V NEEE t=3cm m’ 539. 5 [7553 5% - 7097 B
av g ) — MMEEYEIE L
(YR b VSARITEE300 X 30078 i 3= m’ 10.
(i) 3t m’ 10.
av g ) — MEGEYEIE L
(B #5) m3 1.
(CHfp) & m’ 1.
av g ) — MEGEMEIE L ‘ ‘
(JEA%) BEEE R T vy 7 (AFR) FiE m’ 17.
MR 7 o > 7 (BFE) #iE m’ 3.
70y 7 FEBERE QRIS m’ 86.
7 v v U FEBERE O m’ 14.
(4 3 m’ 122.
R ES H— R L— (++HH) m 94,
57— K L—/1 (Gr-C-2B) m 18.
HAYE  1 Hif m 51.
et ASHE m’ 98. 1 [t=0.05 (&#E) . t=0.03 (ki)




BEYHETIRESHE

NO.
2 Al 3R B 4r B = wmE
TRELELCO m’ 10.
Ao m’ 1.
HEFFCO m’ 122.
Gr-c—4E(+HH) 16kg/m
20T T Gr-c—2B  16. 4kg/m
TR GRS« ARG E ) Cfta~4. 5tFd, 2.4 t 2.5 [EEPKBHIEME  12. bkg/m
R ALy ASHE t 225.6 [2.3t/m3
—RELELCO t 26.5 [2.5t/m3
£ 15,0 t 2.8 |2.5t/m3
500 t 287.2 |2.35t/m3
Wy (AR A) A0 T 7 t 2.




NO. 1

BEYMERERLT

EE

VS{aI;#E300 x 300E! &

300

1—300

A

K

REHE
ZRE A1) —F v=0.13m3/m

4 PR i a1l B % &
pN NI YR [EEFHE L v 81.3
Pz 7 Y — K 81.3 X 0.13 10. 57
SEEER IOV (AR #EE
870
15Q,.220 500
|EHAY')—F V=0.20m3/m
4 R i a1l BN # &
AIRT
FER LR b 89.5
fEfE = 7 ) — |
89.5 X 0.2 17. 90




NO. 6

BEMIERLT HES
kBRI 0y B BE

i

il

| 71)—k V=0.04m3/m

fi

il

N/

(A

%

4 =
AT
SERPEREHELD 75. 6
Moy 1) — |
75.6 X 0. 04 3. 02
ERRFREEM (HK) WA
i@ < 2000 >
O O
O o
1650 115 O O
v
t; BBHary)—k
4 BB fill bl B % &
Wi JE R G L Y W — 34. 4
I ENEN XhE
0. 15 X 0. 15 X 3. 14 / 4
X 1.65 = 0.03
E—2A (Im4729)
0.10 X 0. 10 X 3. 14 / 4
X 1.0 X 3.0 = 0. 02
i i T
0.03 X 15K + 0. 02 X 34. 4 1. 14




NO. 11

BEYMERERLT HES

J0v ) BBEREQHE

avoYy—rJavy AR ) — b
(422 & 35cm) ~
- Y
S N
S &
%
7}
ol
1T
WEHE
avHs)—rJOawvs  A=2. 46m2/m
WmHEAT ) — b V=0. 54m3/m
£ R & | B O % &
AR T WERE 61.8
= Al Nl = B/
PEE35cml A = 2.46 X 61.8 152. 0
V = 152.0 X 0.35 53. 2
e 7 ) — | V = 0.54 X 61.8 33. 4
NI 86. 6




NO. 12

BEYMERERLT

EE

J0v O BRBERORE

|EHa o )—+

avyy—rJavy
(#=E35cm)

iy H=2200 1:0.4

BEHE

avos)y—rJAawvs  A=2.37m2/m

a0 —F V=0. 53m3/m
£ R & | B O % &
AR T WERE 10. 8

= Al Nl = B/

PEE35cml A = 2.37 X 10. 8 25.6
V = 9256 X 0.35 9.0
e 7 ) — | Vv = 0.53 X 10. 8 5.7
NI 14.7




REIE L IERAS

NO.
SHIERR UMY (t=3cm) 18 SHEE AR YT (t=5cm) B &
pi(| ®woAE = T K ®m & ga A ®”OA = T K w &
1.8| w7553 8%% (1) 7.4]  HiE7553 54
1.7 E7553 54 (R) 5. 4 I
9.9 I
24. 2 I
7.0 !
6 1| TTIET097 57
3.7 !
3.0 I
3.3 I
9.5 I
3. 5|m Z 79.5




BWERER L IERASZ

NO. 2
VS{AIi&300 x 300&! % SEERR IO VY (AR #E
®OA R E K w =% b B R | B OB R E K ]
77.0| HiE7553 54 (1) 77.8| THiE7553 54 (L)
4. 3| HiiE7553 54 (R) 11. 7| AE7553 548 (R)
81. 3|m it 89. 5|m




BWERER L IERASZ

NO. 7
heER IOy Y BRE) EE H— K L—IL#E=E (Gr-C-2B)
® A A . w & R Bl = ® O A I w &
75. 6| T 7553545 (L)

18.7[  TiE7097 5

75. 6|m 7

18. 7|m




BWERER L IERASZ

NO. 8
A—FRL—ILEE (£4H) LTz N I O
A = E K " % ;oA = | BOR = E kK H &
39.0[  THIET097 5% 40. 6| HiE 7553 4% (L) 31
30. 3 4 10. 9| 7553 541 (R) 31
24.8 4

94. 1{m )




H11E5505 - 75535 # (AHR) .
1097648 (FF—8T)

S R IR E IR At

N EI U ESEr)) S2 : SHEERREERE CHEER)
Al £ mREERE  EiE ikl i ik
5505 78R + 7553 7 if
FE ] HAE P A A 150. 3 #5380 263. 3 [, AEd
] B EA KD 363.5 |FiE® 140.9 e, $55@
/NEE 513. 404.9
7097 50k
F-BC. 29~F-EP 352.9 [#E® 135. 3 |7efa, #E®)
G-BP~G-No. 1+18.0 198. 1 |#58@
I
E-No. -2+11. 30~E-No. 5 (7 #—) 573. EREL6)
/NEE 1124. 135.3
&t 1637. 539. 5

MEFEIL, CADFHANC L %




XEHIERHETES

THHE SHM6ETR19E ~ SMTFEIA/14E Z=1BE
B TEHMH XHBEH
15 31 31
2R 28 28
3B 14 14
4 H
5H
6 B
7 E 13
8 B 31
9H 30
10H 31
11H 30
12H 31 31
Eil 239 H 104 H
ZHR= 104 / 239 =

BEEAMERS $H1-2-0-35 EFE HWAhH
WERE 4% SHI1-2-@-30 1.20

fHIEE (%) = 0.4 X 1.20 = 0.53 %
BEIATASKIE KYHE (RE) | Yy |




